

Dr. ZABDAN

Section 2.7

$$4) \quad (2 + e^{-x/y}) dx + 2(1 - \frac{x}{y}) dy = 0$$

$$\text{Let } u = \frac{x}{y} \Rightarrow x = yu \\ dx = u dy + y du$$

$$\Rightarrow (2 + e^{-u}) (u dy + y du) + 2(1 - u) dy = 0$$

$$(2 + e^{-u}) u dy + (2 + e^{-u}) y du + 2(1 - u) dy = 0$$

$$(2 + u e^{-u}) dy + (2 + e^{-u}) y du = 0$$

$$\frac{dy}{y} = - \frac{(2 + e^{-u}) du}{(2 + u e^{-u})} \times \left(\frac{e^u}{e^u} \right) ; e^u \neq 0$$

$$\frac{dy}{y} = - \frac{(2e^u + 1) du}{(2e^u + u)}$$

$$\text{Let } t = 2e^u + u \Rightarrow dt = (2e^u + 1) du$$

$$\Rightarrow \int \frac{dy}{y} = - \int \frac{dt}{t}$$

$$\ln|y| = -\ln|t| + \ln C$$

$$\Rightarrow \ln(ty) = \ln C$$

$$\Rightarrow ty = C$$

$$(2e^u + u)y = C \\ \Rightarrow \left| y = \frac{C}{(2e^{x/y} + \frac{x}{y})} \right|$$

Dr. ZABDANI

Seite 2,7

$$10) \quad y' = y + x(y+1)^2 + 1$$

$$\frac{dy}{dx} = (y+1) + x(y+1)^2$$

$$\text{let } u = y+1 \Rightarrow \frac{dy}{dx} = \frac{du}{dx}$$

$$\frac{du}{dx} = u + x u^2$$

$$(2) \quad \frac{du}{dx} - u = x u^2 \quad \text{This is Bernoulli's Eq. with } n=2$$

$$\text{let } w = u^{1-2} = \frac{1}{u} \Rightarrow \frac{dw}{dx} = -\frac{1}{u^2} \frac{du}{dx}$$

$$\text{Eq (2)} \Rightarrow \frac{1}{u^2} \frac{du}{dx} - \frac{1}{u} = x$$

$$-\frac{dw}{dx} - w = x$$

$$\frac{dw}{dx} + w = -x$$

$$M_G = e^{\int dx} = e^x$$

$$e^x \frac{dw}{dx} + e^x w = -x e^x$$

$$(e^x w)' = -x e^x$$

$$e^x w = -\int x e^x dx$$

$$\text{let } u = x \Rightarrow du = dx$$

$$du = e^x dx \Rightarrow u = e^x$$

$$\rightarrow e^x w = -[x e^x - \int e^x dx] + C$$

1) Di BARDANI
Setelah 2,7

*0)
$$e^x W' = -[xe^x - e^x] + c$$

$$W' = -(x-1) + ce^{-x} \quad \Rightarrow \quad W = \frac{1}{2} - \frac{1}{y+1}$$

$$\frac{1}{y+1} = -(x-1) + ce^{-x}$$

$$y+1 = \frac{1}{ce^{-x} + 1 - x}$$

$$y = \frac{1}{ce^{-x} + 1 - x} - 1$$

$$y = (ce^{-x} + 1 - x)^{-1} - 1$$

D. ZARDAWI

Setoran 2.7

#5

$$\frac{dy}{dx} - \frac{y}{x} = 2x^3 e^{y/x} \quad \text{--- (1)}$$

$$\text{let } u = \frac{y}{x}$$

$$\Rightarrow \frac{dy}{dx} = \frac{x^4 \frac{du}{dx} + x^3 u}{x^2} = \frac{1}{x^4} \frac{dy}{dx} - \frac{y}{x^2}$$

$$\frac{du}{dx} = \frac{1}{x^4} \frac{dy}{dx} - \frac{y}{x^2} \quad \text{--- (2)}$$

$$\text{Eq. (1)} \Rightarrow \frac{1}{x^4} \frac{dy}{dx} - \frac{y}{x^2} = 2x e^{y/x} \quad ; x \neq 0$$

$$\text{Eq. (2)} \Rightarrow \frac{du}{dx} = 2x e^{u^4}$$

$$\int \frac{du}{e^{u^4}} = \int 2x dx$$

$$-e^{-u^4} = x^2 + C$$

$$\Rightarrow -e^{-y/x^4} = x^2 + C$$